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Задание №L2_21

Вы  услышите  диалог. Определите,  какие  из  приведённых  утверждений  А–G  соответствуют
содержанию текста (1 – True), какие не соответствуют (2 – False) и о чём в тексте не сказано, то
есть  на  основании  текста  нельзя  дать  ни  положительного,  ни  отрицательного  ответа
(3  – Not stated).  Занесите номер выбранного Вами варианта ответа в таблицу. Вы услышите
запись дважды. 

 A. The tourist has visited England before.
 B. There is a number of sightseeing attractions in Windsor besides Windsor Castle.
 C. The tourist hopes to see the Queen in Windsor.
 D. The Household Cavalry Museum occupies a part of Windsor Castle.
 E. The tourist wants to see Windsor Great Park on a separate day.
 F. The receptionist claims that most tourists need more than one day to spend in Windsor.
 G. The tourist wants to buy postcards with the town views.

Ответ:
Утверждение A B C D E F G
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